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H.P.AS. (Main)—2013
HORTICULTURE

Paper 1II

Time > 3 Hours Maximum Marks - 150

Noie — Attempt Five questions in all. Qusstion No. 1 is

compulsory. All gquestions carry equal marks.
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1. Describe cultivation of tomato and chrysanthemum with

special reference to

(z) Soil and climatic requirement

7Zi) Improved varieties and planting

(zzi) Nutrient requirement

(ze:) Training and pruning

(v} Harvesting and yvield.
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Write short notes on any )‘Er')e of the following :

(e} Recent trends in nursery raising of vegetables and

ornamental planis.

(&) Technigues of off season vegetable cultivation.
(e Role of biological control of insects and diseases |

in vegetable crops.
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{d? Quality parameters and specifications for exporting
of cut flowers.
- (&) Role of T and V pProgrammes for promotion of
Horticulture.
($3) Define osmo:al:s ? Discuss the importance of OSMosis
.in the life of plants.

() Various methods for Improving vase life of cut

flowers.
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Describe the voeole of plant growth regulators in
rolation to fruit drop, fruit set, fruit growth and fruit

ripening.
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Enumerate the breeding methods used for crop
mprovement of self pollinatecd vegetables. Describe any
one of them.
a—wﬁm%ﬁ%wﬁméﬁmﬁwﬁ#
TR ST O s ST s 9 9 e Tk =T =r=ar
Egised
What do you mean by landscaping ? Describe the
planning. principles and foatures for developing a public
park in hilly areas.
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6. Choose the corjrect answer

(@  Which of the following vegetable gardenings is done

for producing vegetables in off season ?

(i) Market gardening

(i) Truck gardening

(iit) Processing gardening
(iv) Vegetable forcing

() Damping off is caused by :

Gy Rhizoctonia SP.
(i) Eythiuwm sD.
- (iiD) Phytophthora Sp-

(iv) All of the above
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PFPowdery mildew is the important disease

of :

() Pea
(zz) Carret
(zii) Omnion
(zv) Radish

Which is nof a correct statement about hybrid

varicty ?

() Produces early crop

(iz) Sceds can be used in the next yvear
(i) Needs high nutrients

(iv) Idigher viclder

P.T.O.



C Q 3 Florti.-11 |

(&) COrossing a hybrid back to one ol the original parcnts

is called

(iy Test cross

(i) Back cross
(iiz} Triple cross
(1) Hybridization

$2) The largest exporter of cut flowers in the world

is
(3 USA
(iiy UK

(i7ze} The Netherlands

{ir;) Germany
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Dahlia is propagated through :

{23 Root

{7zz) Tuberous roof.

Yited Rhizome

{7z} Tuber
Soil having pH 4.0 is how much times more acidice

compared to a soil having pH 5.6 :
{Z) 10 times
D) 26 times
{77z} 30 times

(i) None of the above

P.T.O.
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rmmelon is A classical example

(&) Seedless waterm
of :

) Mutalion breeding
(1) Heterosisl breeding

(iit) Polyploidy breeding

(i) None of the above

$2 Self pellination is observed due to -

() Bisexuality
(7i) Cleistogamy
(iiz) Chasmogamy

(i) All of the above
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What do vou mean by water use efficiency ? Enumerate

the various methods of irrigation used in vegetable

cultivation and describe in detail the methods of irrigaiion
suitable for uneven topography.
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Write .true {(Ty and false (F) for the following

staliemoents -

(a) Bonsai is a Chinese technique of growing

plant. T/F

(&) Kochia is a winter season annual plant, T/E
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() Cho-Cho fruit contains only single szced. T/F

() Dormancy in potato can be overcome by

treating

Ltubers with GA,. T/F

(&) Tomato is a winter vegetable. T/F
(F g Yellow or purple colour in carrot is due to the
presence of antheocyanin. T/F

(=) Flowering hormone is Enown as florigen. TYVF

{7/} Baradari is important feature of Japanese
garden. T/F
(7} Edible part of asparagus is.k_nown as spear. T/F
{7} Veni is preparcd from deep coloured
flowers. T/F
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